
TOOLS NEEDED

GX 460 & 470 REAR WINDOW MOLLE
INSTALLATION INSTRUCTIONS

• Phillips Screwdriver

• 5/32" Allen

• Flathead Screwdriver

• 10mm Socket

• 14mm Socket

Please read the instructions below carefully before attempting to install. 

HARDWARE

GX460
• M6x1mm x 55mm Button Head qty. 2

• 1 1/2" White Nylon Spacer qty. 2

• 1/4-20 x 3/4" Button Head qty. 4

• 1/4-20 Flange Nut qty. 4

• M6 x 25mm Stainless Button Head qty. 2

GX470
• 1/4-20 x 1” Button Head qty. 4

• 1/4-20 Flange Nut qty. 4

• M6x1mm x 55mm Button Head qty. 2

• 5/8" OD x 1.5" Plastic Spacer

• External-Tooth Lock Washer for 5/16" Screw Size

• M6 x 1mm x 40mm Hex Head

• 5/16"-18 Threaded Hex Coupler

• 1/4" Flat Washer

• M6 Nutsert

• 23/64" Drill Bit



Remove the cargo net hook. 

GX 460 

Remove the phillips head screw.

1.

2.

3.

4. Remove the small panel below the window. Then remove the phillips head 

screw that the panel was covering up. 

Remove the seat belt clip. Press in the tabs holding it in with a flat head 

screwdriver



Use the longer bolt we provide, a spacer, and the C-shaped bracket and 

loosely install it into the screw hole that we removed in step 4. 

Remove the right side bolt from the handle. Squeeze the side of the handle 

and pull back on the plastic cover to expose the 10mm bolt. 

Install the rear and top brackets to the panel using the small button head 

bolts and a flange nut. 1 bolt goes in the rear bracket and 2 in the top 

bracket. 

5.

6.

7.



Now we can install the panel. Start by hanging the panel from the top 

bracket. Use the 10mm bolt we removed earlier and secure it to the 

handle. 

Next we will install the rear bracket. Use a spacer and the long button head 

bolt. Make sure the seat belt is in front of the panel and not behind it. 

Tighten the C bracket behind the panel using a 5/32 allen. Once the 

bracket is tight, you can secure the panel to the bracket using a button 

head bolt and flange nut. 

8.

9.

10.



Tighten the C bracket behind the panel using a 5/32 allen. Once the 

bracket is tight, you can secure the panel to the bracket using a button 

head bolt and flange nut. 

Reinstall the seat belt clip and cargo net hook to the panel. Go back and 

tighten everything down and you will be finished with the install. 

11.

12.



GX 470 

1.

2.

3.

We will be removing the interior trim panel to add nutserts behind it to 

mount the MOLLE panel to. 

Remove the cargo net hook from the threaded stud.

Remove the hatch sill trim using a phillips head screwdriver. Once the 

screws are removed, it will just be held in with clips and can be popped out.

Remove the trim panels just inside the rear door. 



4.

5.

Remove anything else attached to the rear interior panel, power outlet, 

seatbelt bolts, etc.

Now pop the interior panel out. You will need to pry the plastic up past the 

third row seat mechanism with a screw driver or pry tool so it can slide up 

and over.



6.

7.

8.

9.

Remove the two white plastic clips from the back of the panel. Use those 

clip locations to drill through the panel with a pilot bit. This will mark the 

hole locations on the front for the nutserts. 

Open up the two holes that the white clips clipped into with the included 

24/64" drill bit. Install two nutserts into the metal.

Now reinstall all of the interior trim.

Open up the pilot holes (in the plastic only) to 1/2".



10.

11.

12.

13.

Install the spacers, bolts, and lower brackets through the plastic and into 

the nutserts as shown.

Remove the grab handle by prying off the caps and removing the bolts 

using a 10mm socket. 

Reinstall the grab handle with the upper bracket behind it.

Install the MOLLE Panel to the brackets using button head bolts and flange 

nuts. Make sure all of your bolts are tight and you are done with the install!


